EE 341 Fall 2004
Problem 3.1 Part (g)
y[n + 2] + 1/2y[n + 1] + 1/4y[n] = z[n + 1] — z[n]
y[n] + 1/2y[n - 1] + 1/4y[n - 2] = :L‘[n — 1] — ZE[TL — 2]
A4 (1/2)A +(1/4) =0
_ (1 jV3
(1))
A = |)\|6le
A = 0.5e527/3
Ay = 0.5e7927/3
haln] = (ALAT + AA3)uln]
hin] = haln] 4 hyn]
= (AT 4+ AX\B)uln] + Kd(n)
W1 = A05e527/3 4 A4,0.5e 92/ _
h2] = A;0.25¢747/3 4 A50.25¢7747/3 - —15
From MATLAB:
A = 2—-35231 = 3.05¢77087
Ay = 2435231 = 3.05¢70857
K = —4
W] = (3.05e790857(0.5)"e2m/3 4 3.05¢1085(0.5)"e 32/ ) uln] — 45(n)

(3,05(0,5)71 (ej(27m/3—0-875) + e—(j27rn/3—0.875))) uln] — 48(n)

6.10(0.5)"cos(2mn/3 — 0.875)u[n] — 46(n)



